— | FAZGY

GT oulT

2018
el il wien
(Ll ugdiys srb)

Sigindasiul erer Cerw : 3 wenfl] [Gorgs wduCuarsdr : 300

dlerésEnéd ufloafsgapar Spssar. idleymrsmer sauaorsll Uigsseyd

10.
11.
12,
13.

14.

s dlej@rsar
@b afleans Qsn@ iy Caite) OsMRiGasHE 15 FIlL_fis@nhss (peiensns 65 eomeamTLiLIS TiTs @ eupkisiLGib.
@ps eflams AstEliy 200 cflamésmens AatanBereng. alaLwealés Gsm_mEapear @aellams@snEida
s eflamEsenid cuflenswns G b Qubppidraraiaun eramL@sLb QL uléd ggib QannsSTaTSaT 2 dTaTaraur
cau@sud  sfluniggs  Csmaaein. gsaud @opur® @@udesr, goar uss HOLRsSEEET
siopsarsrafiiurerfiLn  Gsfelss, sflurs odrar Ca@prm ofems Osreuleer Qupms Qsnerer
Ceuar®id. Cairay Agm_midlw ey, aperpui L eflems Qsr@Ly wrHHls srouL wir L g
ereen cllanmésEné b eflenwaflése . erarem eflammaa@sibd swwme wHUQuaTse QanaT_ameu.
2 ms@EhmLW Udley erameamean QIbsl usssElan euagl G apamauie oisnHbaar Simwbgidrar @L s B
(s Geuan(Hib. Ceum eremngujbd eflams GgnEGe eT(ss sl ng).
silLseamer GhlHg a1 erar, efeanL_SSM6T Qe 2 BISEHEE SIns Samsnesfiurarymd s7uu@ib.
2 msE@Lw dlamgtsngly aanamen (Question Booklet Number) élengareflan @ramimd ussssd
2igpllsa smuopgerar @Lsdd fab sdag smew Bn owyamLw ubgapament Cuarmdiand @mhlsss
1L Geuanr(d. Gupsam eupon eloLgsraia fhsdar @hlsgs smniis sauflemd Csiaunmearu
sipleildamsuia GHd Herareury pLcugdeans Conlsrarariu@ibd.
gpauGleun(y eflameyd (A); B), (C) wpmid (D) eran mitshis; elent_senend Qe Bareng. Sriser sieneusafle eGy exm sflwne
aflen_epwis Gae Qaisg) cllent_szraflc @biiss sm 1L Cauam(Lb. semise Copul L sfluner eflerser gm Caenedlés,
Bmiugnss smblamnd brisdr Wlas sfluneag eey aass sOhHATTECm 2ibs el aw afoLssrald @hiss
sm L Gauam(io. eriuigwmdlgnd em Coerelleg eGr om ellan_awssnan Csibos(ss CoudmBid. o msEhemL L
Glongs wHubuansar Ersar eflen._ssrafe @hlszs sm G sflwuren allenl_saflar cramaflsasawu GuImsss!.
ellenggnafis geuleunm Caemed cramafin@n adifie @), @), © whmb (D) e ren eul L s 2 dmaTer. g
Caarelles aflonweflss frser sfiCuar smgb cdaramu @Cr om alLsdd wi @b Bob weog smeawo
Bimenowerrw ubs apeens Cuenmellamsd @flses sn L Ceaamr@w. peuderm GCamellé@n om elamLemuwis
Complls(ss e pgnafler @hlés Ceuam@i. e Caaellés gamés Gopul L dleLwealssrd 2ins o
SAUDTESTEE5 SHBUL(HID. 2 FmranTons Hriser cramueng sflwrar eflenLwings smflame jeng Aenamuomm
@S58 sm_L Ceuam(Hib.

®®00
prusar eflarg Ggm@ulea apsl LsssmsUD BésCar wag APWssCar sarg. Csia Corsde @Hs
eflamms Ast@UlamarCur sdwg clmLsstmaGur Caias sl sws el () Ceualllie ar(ss1E QsdrssnL s,
Carey uhslear frsedr o mseraLw oL ssrmas sarsrafuurarflin  Qar@ss ol Gauam@ib.
Qeusllanng Agn@lilenang Caire) (plybsey o Briser o misEnLar aBésé Qsdamid.
GHLysdr erupda uriiusns ellans Asre e soLf LEssHnE aparudssans 2 LGLIrdss s AsrareTab.
dilang AsnEudle eflenemw GHlul Geur, GHLNALHE sTLCour saL_ng).
@ hidle auigebld QarRasul_[Herar @HliLsar Sme (1pigeUTEISN EGLD.
eflamariiugnyiser eflenLwealldamod o der eflanssaller Qurss aanafsmsaw eNasanaflear LEsD 2-6
Sghhsa 2 fw &1 gd eripdl Hirtiueyn. QsnEsaT s (S TS Bbg HILOILHEET auphIsILEHLD.
Cuopsear. sidlejemrsafler earenguireg BShame Caraunmanubd wyQa(EEn BLalGEDEHEHEE o aremms
CrAlG eran flaymssrinGEns.

SEE BACKSIDE OF THIS BOOKLET FOR ENGLISH VERSION OF INSTRUCTIONS —l

[Turn over




By which type of movement do leeches to move?

(A) . Gliding movement %Looping movement

(C) Jumping movement (D) Crawking movement

S| enL&6T ereuedlgLonen @uisssE e epald HaTdlemmen?
(A)  dlenerigis @QuissD (B) emuln Quésibd
€) EdHaEL Qussd . (D) eapg Qecwebd @uEsD

Match the following :

(a) Planktonic polychaetes 1. Arenicola
(b) Crawking polychaetes 2. Chaetopterus
(c) Burrowing polychaetes 3. Tomopterios
(d) Tubiculous polychaetes 4. Eunice
(a) (b) (c) (d)

@1 2 3 4
B) 4 3 2 1

/ 3 4 1 2
(D) 2 1 4 3
Qar@ésiulLameiew QUGS s :
(@) Wgemeu LTSS [Hser 1. Siref&Gamem
(b) | 2arifhg Gacvgyd urel&L [Haer 2. SlLmigpev
(© Y uhégn urd&l Haser 3. Cumoru@rfev
(d) @waeurp LSS (Haar 4. wheflav

: (a) (b) (©) (d)
(4)

1 2 3 4
B) 4 3 2 1
(C) 3 4 1 2
D) 2 1 4 3
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3. When a bird migrate, its breeding place is always
(A) Clean and heat (B) Water

(C) Trees w Colder

upeeusar, @aQumEssdhars Qewgibd GL b ereuaury G méeEh
(A)  #6SWI, FHTSTIPLD 2 DL LISNE (B) sewmewtm 2 anLwgns

(C)  opmhsd 2 @LWsns (D) @EywLWrs

4. Notochord extends throughout the length of the animal dorsally

(A) Balaroglossus M Amphioxus

(C) Ascidia . - (D) Salpa

Lmige uGgHudle, 1L e prpeugib Crm CLranil, uyeiluiméa@id ailemid

(A) uaGemdlerraen (B) <unurssen
(©) oflgur (D)  smeur
5. Birds migrations optimizes the conditions for
(A) Breeding (B) Feeding
(C) Egg laying W Breeding and feeding

THASHS STTERTRISEEHESTE LD USET @L_QG! vwiréflenw CuonGareardng

A) @Qeutumsssdoans (B) o aweyssns
©) pLreordiausisrs (D) @eQumSED LHNHID 2_@Te|EEHTS
6. When the wings are unfolded and moved up and down?
(A) t rest (B) At feeding
At flight (D) At breading

upeneusatier Sp@aar eflfiBgn, Cuab Supwns BeTHgeg) erGLiTg?
(A)  e@uey a@®&Ew Cung (B) srul@EwWL Cung
(C) umsEwL Gungy (D) Qfigi Qedub Curg

FAZGY 1



When cells are treated with spindle formation will be inhibited.

(A) Permease (B) Nuclease
y Colehicine (D) Thionine
Qsasafe ;o U GSHarmed ab&e&rnq.@.‘@cmkgs;m 2 meumeugl 5H&sLUREDG.
(A) QumAGuiev B) AwselGuen
(C) Caresfidlen (D) FHCwreflen

Z DNA refers to
(A) Single stranded DNA
(B) Left handed helix

(C) 12 residues per turn \
W ®and ©)

Z \§.GTT.CT GTENLIG)

(A) @i &ma DNA

B) OL& Uss HmET

©)  emdmiyses 12 gam®aer
D B wppd (C)

Short DNA segments with 4 Nitrogenous base pairs 1s called as

% Spacer DNA (B) Mini DNA

(C)  Miero DNA (D) Tandem DNA
BrenE @ever opl e Guavsmar Gerar_ fflu DNA ugdow 6T e
Sjenp&EE L [HEDG.
(A)  evGuer DNA (B) afl DNA
(C)  enw&sCrr DNA (D) GrLenib DNA
5 FAZGY
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10. It is distinguished on the basis of the source of chromosomes
(A)  Duplication of chromosomes

(B) Chromosome mapping

\/ Polyploids

(D) Pedigree analysis

@ns e GErmGLrGambadr @gear 2igliumLuild ysp@ubnsg.
(A)  ECrCwrCerbaeflar Gyg

B) @CrrCurCsmd euenyuL b

(C)  umellGevmig /L6 Wig LI PEDLEDLD

(D)  eaubsmeuaf ey

11.  Birth defect caused by the presence of an extra chromosome.
(A) Klinefelter's syndrome M Down's syndrome
(C) Turner syndrome _ D) Phenlketonuria

adswrar GCrmGurGembaafiane gpuBin Wpuy Geapur®
A) AefleanQueirev CrmiiE (B) reyerevy Crmii@d
(C)  wLreniiev CrmiEmd D) Yeeare HCLraflflwm .

- 12. A defective gene results in an inability to transport salt in certain kind of cells in the Lung.

% Cystic fibrosis (B) Down’s syndrome

(C)  Deuteranopia (D) Protanopia

@m Gopur@earw wrugneiea oflameraurd meruirdled eerer GHOLELL Gsdsafled 2.0y
Curb@aursg apuBss Wy wns e

A)  Advigs eu9NCrredicy (B) Loyen Crmii@

©€) ¥CLCyrGarmQuir (D) yCyrGLrGermAwir

i
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13.

14.

15.

Ovum develops from

(A) Corpus leuteum

Graffian follicle
(C)  Fallopian tube
(D) Uterus
S{ERTLLD - N (wiHg 2 (Heurdng

(A)  arrdue g igwib
(B) dprQwen uredlsdler
(C) @ premd

(D) smuenu

Length of oestrus cycle in woman is
(A) 21days B)
28 days (D)

wafgeafle eravyen spnHéludlen HTseT ereucuare,?
(A) 21 priser (B)
(C) 28 priger (D)

Which among the following is neurotransmitter?

% Acetylcholine

(B) Pyruvic acid
(C)  Succenic acid
(D) Lactic acid

S\ &S UDMIET 618 BT SLSH?
(A) 8 ane Careneen

B) eumeis blon

(C) esdlafls dlebd

D) orégs sblen

25 days
35 days

25 prigar
35 priser

FAZGY
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16. Nuclear transplantation technique was developed by

% R. Briggs and T. King

(B) Robert Koch
(C) Edward Jenner

(D)  Muller

2 L& woudiy Gsmile B USms 2 (meumsd e wimi?
(A) R @fsew wpmin T. S

(B) @grum’ Gans

(C)  erleuirl Qggementt

D) et

17.  Role of placenta is
(A) To act as storage organ
(B) To convey nerve impulses

(C) To protect the embryo from shocks

M Channel that provides essential requirement for growth of embryo

smi Ge @enenriLs Slaedler Lanfl eremen?

(A) Gefluy aguurra; Qewdu®dns

(B)  mroy sifreysman sLggidng

©)  smoa sfliteyseiler @mpg UTEETEHDS

D)  smasEs Comewrar 655 5amer sLES s ciatiEfée 2 saflnsg

FAZGY 8



18.  Organism that breakdown dead and waste matters is called as reducers. This statement is

True or False

(A) False

W True

(C)  Partially correct

(D)  Partially wrong

Qops wHpD sfleismer wWssEsLLD 2 Wllsallear AU ArguCGeavien eram BPEasLILHEDS?

g
—-—

B sdy sMwr? seupr?
@) sapg

(B) &

© urh e

D)  urfl sy

19.  Thermal stratification of Luke is Epi, Hypoael Thermocline is a correct version

Ml‘rue

(B) False
(C)  Partially correct

(D) Partially wrong

Geuliu SiBasemweyseanar erdl, wanliGur, AgrGuwréleerer eran WMsswmD erar smmeug) sflwm?

4)  sap
(B) &
(C) ungef
D)  urd geum
L 2 9 FAZGY
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20. A plant which lives for a few days is called

\/ Ephemeral

(B) Biennial
(C) Annual

(D) Perennial

GonHS BrLseT L (HGW UTRS Falg Wl STEUTEISET

A) el

B) uwelwe
C) yengeusd
D) Qupaflwea

21. The natural resource which is renewable and exhaustible is
(A) Minerals
(B) Coal

(C) Petroleum

M Forest

—

QunsmswuraCe Ugi9sasaniyw LHMID Sé668m W euaTDd 24GLD.
(A)  grgisser

B) Hessh
(C) QuiCGrredwid

(D)  srlRser

FAZGY 10



22. Name the gas released during retting process of coconut husk

B) SO,

@ S0,
j H,S (D) None

Caiusmi QauallgCsmadphgl eap meusEb Curg Ceuaflambd eumjellesr QuwiT sag.
(A SO, (B) SO,

(C) H,S (D) egefeaeame

23.  Which of the following causes white spot disease in fish?

M Protozoa (B) Virus

(C) Bacteria (D) Fungus

&b aumeuanaupmiar ersanme Weflé Qeustener Liemafl GHML 2 (heurdlmgi?
(A)  yCpm_CLrCameu (B) eneuran

(C) umsefwr g D)  yepemaser

24.  What is the chemical process occur during the treatment of industrial and domestic effluent
in waste stabilization pond?

M Oxidation

(B) Reduction
(C) Oxidation — Reduction
(D)  None of the above

DY,EMEET LOHMILD eﬁmi@ sfleysemer HLULGSHD GargHe eappyd Curgl abg euemsuner Cauduiiue
eflenen panL_@QuUmE S ?
A) psallgCahmbd
B)  e@nssD
©€) @baligCappd - Gonsse
D) @easaild gearmiiovame
2 11 FAZGY
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25.  Match the following :

(a) Hydrozoan corals
(b)  Octocorallian corals
(¢) Hexcorallian corals
(d) Fossil coral
(a) (b) (c)
% 4 3 2
B) 2 3 4
© 1 2 3
D) 3 4 1

QsrRasulLemaienw QuTBSE!s :

(a)
(b)
(c)
(d)

4
B)
©
@)

emamiq CrCamel e LieueTL LITEm&ET
2&CLTEASTCradllwen Leuar) LTem&sET

Qanssr@arCGrellwer Leuar LUTemEET

s sITFGL LiGUETLI LITenm&aT

(a) (b) (c)

W = N
[N S B ' R ot

2
4
3
1

26.  The largest tapeworm is

(A) = Taenia
% Diphyllobothrium
(C) Hymenolepis
(D)  Echinococcus
Blel Qulu glenL Ly ergl
(A)  ealur
B)  ebatar Curgfwibd
C) @anGwCam@eaife
(D) ea&fCanrarsgev

FAZGY
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Rugosa
Madrepora
Gorgonacea

Hydrozoa

amCamam
wmig ACumyT
smiCarGeandlwim

enamiq CrrGeameum



27.

29.

30.

How Pholis showing its parental care?
(A)  Nest building Aoﬂing round egg
(C) Attachment to body (D) Shelter in mouth
Gurelle eremgb et seir QUHCOMT LIngETEGD Senawa ereueurn Geuallu( g
(A) sm@ss _(Heusar ppeid (B) @leLerw uamergg LUMEISTUILSET ppeoLD
(©) 2. Can( g iys Qarareugamma (D) eaumfe eeugg ungsTULGTD
In Salmon and eel the air bladder is connected with the gent through
% Pneumatic duct (B) Pneumatic tube
(C) Pneumatic sac (D) Gut duct
srower LHNL elewrkE s Basdflar sthplmu agar aflurs o aTe GAISEET
QaarssiiuBADng
(A)  Flomgs G (B) Flomgd BewrL @Lped
©)  Hwmgsou _ D) 2.awey @i
Fore limbs are modified into wings

&) Amphibiane B) Reptiles

y Aves (D) Mammals

ahg WO(HESED (pesTasHET Snsamasarta WIDHDHILIL G (HEED
Q)  Qmeumpailser (B) earfreues

f.l"“\

©) urduer (D) urgngser

Fish swim mainly by lateral movements of

(A) Pectoral fin (B) Pelvic fin
v@’ Tail fin (D) Anal fin

Benaafler LsseursE BhsesE 2 e b g[HUY
(A)  QuaCLmyé sIHuy (B) Queveils gi(Huy
C) aume gRHLUY D) gae gHUY

13
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31.  Svedberg(s) unit is a measure of
(A) RNA content
(B) Protein content
Ribosome sedimentation rate

(D)  Activity of ribosome

avGeul LTs @G Sjerail LweTuH DS
(A)  RNA sjarey

B)  urs sieTey

(©C) erGurGsrlier Qaig QuanGL ser el gD

D) e@pCurCemen Smen

32.  All of them are ribosomal protein factors except
A) IF1

B) IF2
©) IF3 v 14
@smang seiy manggib egGunGembsafier Urs sryesflsermaib.

A IF1 (B) IF2
(C) IF3 (D) IF4

33.  Aerosome of a sperm is formed from
(A) Chloroplast
(B) Mitochondria

aflbgeamiefen 2&GrrGambser eSl(mbgl 2 (Heumang.
Q)  ECemGrmermavL_

(B) awl GLrareawrigfumr

(C) Yermevigl ser

(D) Careoens 2 mliyser

FAZGY | 14



34.  Multiple alleles are
' (A)  Genes located in same locus with same expressions
(B)  Genes located in different locus

Genes located in same locus but having different expressions
(D) None

LIQ) D1e0a0a0&EET eTaTiL(Heus)

(A)  Hut uregulie Siaowl Gupp LU gL w Gaaliur’m daaiuubsgiais
(B) uwesruulL Sluwliuramgudle HenwwiULL IDFLIE)

(C) Fuwiuresuis sewwt dupp wru) CauguBssliulL Gaefiiurn’mL 2 HarsEaus)

(D) gzblome

35.  Established ABO blood groups in Man.
(A) Nasrallah. G (B) Gartner. S.

y Landsteiner. K () Kolreuter. J.

weflgifle ABO @rgs cuensseT Blmeuiul L g erauymed
(A)  prev@reem. g (B) &nirlenm .erev.
(C) amram_ev@L e . Cs (D) Qsmaemulili. Gg

36. Rh factor was first discovered in
(A) Rat

(D) Rhesus Monkey

Rh sryarflsedr apgen oo sar®@qssiul L e ulfland
A)  eedlsar

B) sar@Ldsar

C) uéaar

(D)  Crevev @yhi@ser

L 2 15 FAZGY
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37.  Pigment present in blood of sipunculus is

(A) Haemoglobin

‘/ Haemoerythrin

(C) Haemocyanin

(D)  Chlorocroorin

Slueangeay erenp eflaviidlen Qrésse sraliu@BL A
(A) afGomgCearmen

(B)  abfCuwmrerfgian
(C)  afGurswafler
D)  ECeamGrrEGymilen

38. The other name of chloride shift is

(A)  Bhor's effect %Hamburger’s phenomenon
(C) Hégman’s effect (D) Rh factor

&Gemreny(® uflwrhpsen wmy QUi
(A)  Gunf efenerey (B) ganbuﬁ$ﬁ flspey
(C) Camswren efleneray (D) Rh smyewf

39. Respiratory Quotient for carbohydrate is

V 1.0 ®) 0.7

(C) 0.8 (D) 0.9

srrGurenan GrL_y e seaurg ey
(A) 1.0 (B) 0.7
(C) 0.8 (D) 09

FAZGY 16



40.  Tadpole of frog is
Herbivores (B) Carnivores

(C) Omnivores (D) Predaceous

seuenemuller GletElanevuimer senaliSr L &

(A)  smeur 2 arenfl (B) wmbls o awentl
C) omangg et D) GACLAwev
41.  Gonads are derived from embryonic
% mesoderm
endoderm

(C) ectoderm

(D) mesoderm and endoderm

sMmLUULFSE g 210 &Gsvsallllmpg @ars Qedser Comhmiedsdpg?
GV CRENCL TG
B) o5 BEE
©  up=6se

D) BB GGG LHHD 216 ADEES

42. Natural parthenogenesis occurs in
(A) Earthworms M Honeybees
(C)  Protozoans (D) All Insects -

Qunamswrer searafl @arCQuUmEsD ehg 2 ulflangdle paL Qumifng ?
(A)  weryy (B) Ggatsser

(C)  yCyr GLnGemeur (D)  omasg Lsdsar

L 4 17 FAZGY
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43.  “Calling females” with sex attractant is peculiar in

M silk worm motor

(B)
©

(D)

butterflies
honeybee

ants

“SepéE Quamaser anmrGomer FiréE ssdlujerer s wrg?

A
(B)
©
D)

UL HyFs

UL mbL &8

Caal

ETMIDL|SET

44.  An individual which emit a signal this communication is

f sender

(B)
©

D)

receiver

message

channel

2 Wilflemd Gawens Celig geauama Aaflediliug eaThs euansamw Carbss?

(A)
(B)
©)

D)

FAZGY

SigUL6eug)
QUITRIG;6. G
EOSGAeLS

m@mm&
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45.

46.

NEERI is located at
(A) Mysore

(B) Bangalore

NEERI e oieniohgereng

(A) @t
B) Qusest
(C) mréy
D)  Cagemr

Write the abbreviation for PAN
(A) Peroxy Ammonium Nitrate

Peroxy Alpha Nitrate

% Peroxy Acetyl Nitrate

(D) Pantotnenic Acyl Nitrate

PAN eremp Qareogus@ sflwmer effleinssid er(pgs.

(A) Peroxy Ammonium Nitrate
(B) Peroxy Alpha Nitrate
(C)  Peroxy Acetyl Nitrate

(D) Pantothenic Acyl Nitrate

19
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417. In India, which of the following species of honey bee is reared in artificial hives?
(A) Apis flora
(B) Apis dorsata

% Apis indica

(D)  None of these

Gemeumeuamaup e @bSHwreiler Caern saBaafley cueriasliL®bd Coatfulen QuiwiT wrg?
(A)  glen Cermym

(B) glev Lori@slLr

©)  abev Gasrigsm

D) @aeausaile ggayblaama

48. The sex of worker bee is

(A) Fertile male (B) Sterile male

(C) Fertile female MSterile female

Gouanavsamy Cgafuden Limedlard
(A)  veyLOTE 6T (B) wal{ e

©€C) veyodwrs Qe D) wel @ Qe

49. What is the commercial name of lac?

(A) stick lac (B) dust lac

(C) seed lac mheﬂac

Sirsdlen cuenfls FHwimen QU ergy?

A G sirsE B) grer siyEE
©) devs @7sE D) Qsoes

FAZGY 20



50.

51.

52.

Who proposed the theory of surface tension to explain amoeboid movement?

(A) Alien (B) " Pantin

(C)  Jennings W Berthold

SBurl@ psiéfleow efassQeaaluu@sfu Cesriur@sefie uriy Quees Gsml um igear

Qememeg wmi?

(A) gdllen (B) umeénige
C) Qmenaflised (D) Quit Gaprar.

The first larval stage of scypha is called as
(A) Amphiblastula Mtolmoblastula

-(C) Planula (D) Parenchymula

Guana. sLimellen (1pged Liheu 2 ulfl Hlenew Spaser_eurm iewwsstiu@Hps
(A)  ybe9emmevHeor (B) @wCLrGumAermevBeom

(C) 9Gergyem (D) unmgenensapeor

In porifera canal system, the radial canal opens into spongocoel by

M prosophyles

(B)  apopyles
(C) ostia

(D) incurrent canal

geveru|edlsefler sreumis e, yrssTOMUSET SpsaL.  sroemulen P
evumiCanréallgyer Snsdms,

(A) yCrrGsrenuevaser

B) Cureuaser

©C) yevgwm

(D) 261 Qeaid sTeeuTLISET

21 FAZGY
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53. From which organism is shellac is obtained from?

(A) Bombyx mori mori
Coccus cacti

w Laccifer lacca

(D)  Abis mellifera

aps 2 WAL O BHS 2ATEEH QuDULBHDE?
(A) umbl¥s&ev Gumf

(B) angésen anélg

(C) erdQurarsst

D) g 9ev Quedl..Aur

54.  Which of the following is known as shipworm?

(A) Solen ' Meredo

(C) Pecten (D) Mytilus

&2 arereuphled erancu HLILID LY - SMP&ESLLHEMS)?
(A) | Comewen (B) QuACGLm
(C) QuéLen D) ewig@ev

55.  Which one of the following is true?
(A) Pilais a bivalve mollusc
(B) Pila respires by gillon land
The excretory organ of Pila is organ of Bojanus

(D) The blood of Pila contains haemoglobin

S(perereupdled ergy sflwimang ?

(A)  euarem @m @B w Guwaay ewrELd

B) euerflasdd @méEn Curg Geadse apaib sFeurfléfleper
(O euarder sfle) B55 2 mliy Cumgrarediar 2 UL G

(D)  euerder GmHulewr afCmgCearmen 2 drerg)
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56.

57.

Familiar swifts, swallows and warblers birds are belongs to

Winter visitors

W Summer visitors

Passage migrants

(D) Permanent residents

Hasp@uDD svalliiav, evGeuCameien, HMmID eUITLILITG LUDEEUSET 6THS ueSEm WL STTHSMal
A)  wewssre eu@ma;mluﬁwrrmfra;ei'r

(B) Qeaule sme aumensludeureriaar

(©)  GuGsn @ bAuwaer

D) Hrbsr 2mpell_sureflgar

In birds, inspiration is a act whereas expiration is an act.
(A) Passive and passive
(B)  Active and active

WPaSSive and active

(D) Active and passive

upencugatlan, &Seurflag Gurg, sTHerm 2 em@)(HLILIS) @swerseyDd, &THEND

Qeuafizareneug QAruirsab smsILELD.

(A) Qswenn wHmb Qewenm
B) Qewgyerer HmiId GFwg)erer
(C) Qeswepm wHpmid Qewigéarar
(D) Qawgyerer wHmb Glgwigyemer
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58.  DNA replication takes place during

(A) Prophase (B) Metaphase

(C) Anaphase w Interphase

DNA @\’ iy 5560 Qaed 9fley Lig Hlenaulier penL_Qumid.
A)  yGprCGuev (B) QuilirCGuev

C) semCGuav . (D) Qe Hleoraw

59.  Which of the following is a part of a palindrome Nitrogenous bases sequence?

A CCCC (B) CGGC

(©) ATTT M CCGG

EpsaaT_cupmieT erg “Cuellang Crmb” anpLrgen Cue auflensuden LGS wnED?

@A) CcCCC (B) CGGC
(©) ATTT (D) CCGG
60. The initiation codon AUG codes for amino acid.
(A) Cystine
W Methionine
(C) Serine

(D) Phenyl alanine -

gleugaid Cammer AUG 2BCanr blwgHlaer @blafleamg).
'.(A) Haven_air |

B) QuwsHCwreien

(C) Eeoopen

D) Yewerer yeomafler
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61.  Which trisomy has been reported in Gorilla?
(A) Trisonﬁy - 13 (B) Trisomy - 18

y Trisomy — 21 (D) Trisomy — 22

eThg Crml dal L Hl@H Aarflooraie srariiu@Sng?

(A)  CpmiuamlLf@d - 13 (B) Covmi gL dem - 18
(C) Cprissaldeh - 21 ‘ (D)  Cmrds sal L@ - 22
62. An antibody is a molecule that is synthesized by an animal is response to the presence of
(A)  Immunoglobulin _ W’ Antigen
(C) Colostrum (D) None

el @sefleh e LMy 2 (HEUTCUSDEE STTERTLOME PSS M) 6TE|?
A)  @oyGam@Gamyaer (B) afHflunéd

(C) Qasrevevl_gid D) ezayb @ome

63.  Erythroblastosis fatalis is related with
(A) Anaemia (B) Liver cirrhosis
M Jaundice and anemia (D) Heart failure

erflgCrmleravGLmedley SLmellev - erihg Crmi Qsmyentwig)?
(A)  Q@uss Cerans (B) sddpe aissid
(C)  weEpsarsmorae wHnb Prss Cerens (D) @swid Gams&gggeb

64. Mendel's independent assortment was proved by
(A) Back cross (B) Monohybrid cross

W Dihybrid cross (D) Incomplete dominance

Quwarri_dllen eaflggil (Afge Qamerens erae epab HlapLiemin
(A) G ses560 (B) @@ uary sy
©€)  @mwuary saly D)  wuwew Quprs @riE Seeno
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Humoral immune response is also called mediated immune response

W Antibody : (B) Temperature

Lymphocyte (D) Monocyte
abGorya Gibwyer Qe meran TamLD SeW&EILHE DG
(A) pewriiguimg (B) GQeulub
(C) SbGurensi (D) GurGemest_

66. The heévy chain of Immunoglobulin G is
(A) Alpha (B) Delta

M Gamma (D) Mu

@rwCanmgCarmallan G ufen sigan sme
(A)  speoun (B) Qrealim

(C) smom D) Oy,

67.  Which among the following is an harmolytic autoimmune disease?

% Leukopenia

Thyrotoxicosis
(C) Addison’s disease

(D) Rheumatoid arthritis

Epsaeam_suhmier erg op GLr @ibwyen Crmii?
(A) arsCardeflwr

(B)  asCrr_nsflCsnélen

(C)  sugssnev Crmi

(D) emwlLmlf @iy igav
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68. Balance the equation

NO; + O, + NO;

A)

®3)

©)

NO, + 20, —» NOj
NO, + H,0, - NO;

NO, + 20, —» 3NO;

\/ 2NO; + 0, - 2NO;

QarpasuulL swearum L swihlae Aals.

.NO; + 0, + NO;

A
(B)
©
(D)

NO, + 20, —» NOj
NO, + H,0, —» NO;
NO, + 20, — 3NO,

2NO; + 0, — 2NO;

69. Best example for Denitrifying bacteria

M Pseudomonas

B)
©
)

genplfenu Lrse lwneys@ @i TS50 CamHEsHEsaD

(A)
B)
©
D)

Azobacter
Clostridium

Mycrocystis

@&CLrCGmenmen
& GLrmumaLrm
Sermev_figuwid

a&Grrélenig 6
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70.  The largest terrestrial mammal is

(A) Bison

% Elephant

(C) Chimpanzee

(D) Bear

Blegdle eurpd sLGQUMAW el eTg
(A) 'arn'_Ql_@rmLD

(B) wrenen

(C)  Abumrered Gy

D) . sy

71.  Which is the largest Inland water body?
(A) Bhavani

(B) Manimutharu

% Chilka lake

(D) Vaigai
Quflw perral erl ergy?
(A) uveunaf

B)  wveflopssty
(C) Slesm gl

(D) eeums
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72.  Natural selection theory was put forwarded by

Linnaeous (B) Mendel

y Darwin (D) Lamarck

Quinemss Csia Gam_um_ e deuaflueur
(A)  NenGemen (B) Quwemnev
(C) vLmrelesn (D) @moris

73. Which of the following is not heritable?

Chromosomal mutation

W Somatic mutation

(C) Gene mutation

(D) Point mutation

EpssnamUCIDNET 678 FHSHEEHEGE HLSHNGI?
A)  ECrrCunCerbsafied Slefordmd

(B) eLn@sdsafiey Hemompmd

(C) genasafled SempmHmd

D) A9 HusafCun -amBsalle Sei wrpod

74.  Which living organism has the oldest fossil history?

(A) Man ‘ (Horse

(C)  Dinosaur (D) Archaeopteryx

Sipsaea_emeuseild WS LP@OWTE LiggLiLiges eurambapd QererBerer eurpid 2 udlfl erg?
(&) wafigen (B) ©feor
(C) e _Cemnani D) <iadCuri@Lfgen
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75.  Find the odd man out from the following
(A) DPT vaccine
(B) TAB vaccine

(C) Bacillus Calmette Guerin (BCQG)

. % Anthrax vaccine Adsorbed (AVA)

Qénaupaiaraubmet QUImBS®S Sam® i
(A) DPT s@uud
(B) TAB s@uLA
(©)  Cuaddad srodGly Gl sGrLs BCG)

D)  ymrrsev eurgeldlen g (AVA)

76.  Red and orange coloured of corals is due to

(A)  Association of small plants like Zooxanthella

M Pigment cells in the body wall of corals

(C) Both (A) and (B)

(D)  None of these

Slauiy HmIb pTEHe Finrisefles sreriu( b sTTOS&EHEE STyamiD

A)  sme eondaggL e sCaurshdoar Gumer gnmﬁr&:&@ CUTLDEUSTED
B)  smyellen 2 e Carella BmaEb Fipl Qewser

(C) CupsapiuL Grar(bd (A) womb (B)

D) Qaasaile ggebdame
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78.

79.

Which of the following statements are True?

The blood of earthworm contains respiratory pigment haemoglobin
(B) The body cavity of Annelid is a pseudocoel
(C)  The body segments of Annelida are called metameres

(D)  Hirudinia is blood sucking annelids

Qar@Héstiul_LeubBle eraneu crévevrtd siflwimeenau?

(A)  warypeier GmSude afGumgCarmien erapb seuns Hipl 2 drarg
B)  yemamadlmellen &pr@@ Cumal 2L pEWlwrEn

(C) enenadlmaflan 2 L paarLfisar @l Lmflwiser erarliu @ flemmen

D) afmealur Gms 2 fléad oiamamedranE

Who described the locomotion of earthworm?

(C)  Leuven hock
(D) King berg

warL(peflen paTESlew eflerddluiaurm wimir?
(A)  @ewr

(B) &l npmib edlaviomerr

(C) Ay Qeusranréd

(D) A Quirs

In which segments of the earthworm, clitellum 1s present?

@) 12-14 w’h B

(C) 13-15 (D) 15-17
aLypeflan erhs seaim_hisafld erhamd daerLdaid urellflLsdlpg
a) 12-14 (B) 14-16

(©) 13-15 D) 15-17

31
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80. Salpa and doliolum and the examples of
(A)  Ascidiacea Thaliacea

(C) Larvacea (D) Craniata

erur wHHIL CLrlGurab aeDE erHESSGST_ D
A) g Cuéwur (B) CsalGuélur

©C) omCGaudur D) &HCpemmiim

81.  Divisions agnatha and gnathostomata and sub-phylum by

M Vertebrata (B) Cephalochordata

(C)  Urochordata (D) Hemichordata

gCangsm wHmibd CangCamGlaCL_ Gl L UESsar eThe &)enamt MIDGDG GBS
A) Qeamg@Cr Lr (B) QeuCGamrsmGLiLmr
©)  wyCymemriGLL L (D) QslsriGi L

82.  Affinities of Amphioxus with vertebrates
(A)  Having notochord
(B)  Tubular nerve card

(C)  Pharyngeal gill-slits
/ Having (A), (B) and (C)

Y wUurheanss g 0agolaCar® 2 drer Apmmdlu OsrLiy
A)  CoprCrami

B) -gywoCurem Apieugmi

(C) Cuflgpflue Sldvgemerser

D) (A), B) vppiw (C) @emrrdswkisdr
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83.  TCA cycle is also known as

(A)  Glycolysis Areb’s cycle

(C)  Ornithine cycle (D) Cori cycle

TCA sppé @eucummib SmP&sLLBEDS.

Q)  GErCare saga, (B) dlylev spnd
(O  yrafigagen spnél (D) Garfl sppd
84. The mitotic apparatus constitutes
(A) Centriole
(B) Spindle fibres
(C) Cisternae
Centriole and spindle fibres
el L Mgd 66 2 _aiTeng,.
(A) Geer_MGuimen
(B) 'Gimﬁ]qu_éu Bevpaar
(C) Sevr_rGeu
(D) Qe MACwme wHmd 6vGeirga Ganpser
85. Name the protein present in mitotic spindle fibres.
V( Tubulin (B) Actin
(C) Myosin (D) Fibroin
WL LM ig8 evifetnig e B @enpsatich sramriL@Gd Lrsssler Guwim s,
(A)  qypuedler (B) <dqen
(©) wCurdlen D) SeruGrrdlen
L 2 ‘ 33 FAZGY
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86. Alzheimer’s disease related with

©)

Malformed nerve cells

Malformed reproductive cells

S8l CrmyL e QgryamLwg) eTg

(A)
(C)

@purHepww By Claw

Gapur@Benw Gearibumes G

87. Haemophilia A is

(B)
(D)

(B)
(D)

Malformed liver cells

Malformed lung cells

G@pUTHenLw saaSrd Aaew

@a@nurienw meyuige Cleem

(A) Weakness is seeing colours distinctly
(B)  Inability to transport salt in cells
Prevents normal blood clotting
(D) Red — Green colour blindness
afGumialwur A eremiuBeus
4)  aararmismer Yfgg urmiuded ghuBin uawelead
(B) Qeasafled 2 Lmu 55 @uememwo
©)  @rés e mpsamw sHLLS
D). Seulsy - udams euamanT @GenHLIT(H
88.  Test cross and the estimation of recombination frequency involved in
(A)  Sex — linked inheritance
W Chromosome mapping
(C)  Criss — Cross inheritance
(D)  Complete linkage

Cengenen GmSE wHMID wmGeramauen safliy sfTQeuaramar 2 erar._&dlwig).

A4
(B)
(©)
(D)

FAZGY

ured @er umGuUT(® QamerL LFbueT
G&CrmCGuonCambsaflen cuanyuLmiger
Sfevdlpmev LFbueny

PQe@wLDL bS5 Geari
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What is the thickness of Malphigian capsule?

A 1u ' \/2 u

© 3u D) 4 u

wrelglwer 2 amudlen Hig o6 eTeuaUeTE?
A 1p B) 2 p

© 3u D 4p

Calcium release theory of nerve excitation was proposed by

W’ Heilburn

(B) Osterhout
(C) Hagman
(D) White

By grer_eler sreflwibd Gaaiui® Qardasamw saflue
A)  afouiér

B)  sysvii gpay

(C) Cap&CGuar

D) @

Where does succus entericus is secreted?

(A)  Buccal cavity (B) Stomach
(C) Pancreas %Small intestine

F&H56 TG L TEHE 6TEIE STEH DS ?
A) amusel (B) el

(C) saewTwid | D) SApsre
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92.  The first sign in the metamorphosis of frog is
(A)  Appearance of hind limb buds
(B)  Appearance of fore limb buds

(C) Disappearance of Internal gills
% Shortening of tail and appearance of internal gills

seuaanuilen auer 2 HLTHDSSE s ABGH wig?
A)  Yeruss GavareymliLser Cameammicug

(B) (l_.pﬁiﬂLJé&; @mmﬁqg}ﬁq&'ﬁ Camenmieug)

(C) . 2l yn& Qsa eTsdr LMMEIF |

D) e End 2 Lyp Aeeyersear Coreammieug)

93. Grey crescent is present

W Zygote of frog

(B) Eye of frog
(C) Retina of cockroach

(D) Zygote of Amphioxus

gmbue) Wenp Spaarcupdla el sreerinBEng?
(A) ,ss-ummuﬂm S(HIPLENL

(B) seuewerulan semr

(©)  spuumer ysfuler G]m;wrscrrrr

D) ey Qursdaden smupl e
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94.  The first organism to become established in an Ecosystem undergoing succession are known

as

Mioneers

(B) seral stage
(C) preseve

(D) subseve

@hphlee war wsHd wad 2 ulfasns $na>gﬂeuméb gHu@ED SAGEGLTHDSS e GI'GE!TGUITQGJ@TQI
sapluBElng?

A) qpanGenmgser

B) swsrw Qsmi

(C) e sapsmw Qg

(D) gewenr sapsTW QFTLT

95. The maximum temperature of stratosphere is

(A) 10°C
(B) 15°C
(D) 20°C

Beueliwam_ogder sifasul s QauliuBlae GHOSE

A) - 10°C
(B) 15°C
(©) 5°C
D) 20°C
4 : 37 FAZGY
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96. ‘Smoke Nuisance Act’ is mainly to central which pollution

Water pollution

% Air pollution

Noise pollution

(D)  Radioactive pollution

ahs wrsLBHm® s_HUUBES ‘Les Qgradeame #lLib” @ubHpriul L g?
(A) B wrsu@ge

B)  smpp wrsLEsD

(C)  slUssEMD 2 @TLTELD L&

D) s eSsamed 2 T_MEELD WS

97.  Which is the primary function of Mimicry?
(A) Warning
(B) Aggression

Attack

M Concealment

WISlEMuSletr Wp@eTenLowimenT LI wimg;)?
A)  eassfigga

B) Qsrooe Asrsse

C) srs@go

(D)  senenar LODEHED
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98.  What is the gap between first dosage and second dosage of pituitary injection in the induced
breeding?

Mﬁ hrs

(B) 12 hrs
(C) 18 hrs

(D) 24 hrs

giar_d @eiQumsssSad CurLLLBD e wHHID @rarLid eaflaEhsaTear s @en_Geuafl
GTEUGUGTEY ?

(A) 6 wenfl Crmd

B) 12 wexfl Crrid

(©) 18 wesf Cpwd

(D) 24 weafl Cuybd

99.  The class in which the Oyster belongs is
(A) Gastropoda

Scaphopoda

W Pelecypoda

(D) Cephalopoda _ '

Suldsen snibg ETer su@f_lq

Qa) erevCrrGumm ' .
B) wC&CurGumrm

©) QuaACumLT

D) GCsuuCarGumr
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100.  The formation of Ephyra larva is Aurelia takes place by
(A)  Exflagellation

(B) Constriction

J Strobilation

(D)  Planulation

g Tadlwredle erenuiyr Gare uif o Heursa Epseamaupmier erbapepuier perQumSns
(A)  Qeuafl @enpuwinssind

®)  souese

©) evggmyCevagen

(D)  GCengyCovagen

101. Obelia colony is ————— in nature.
(A) monomorphic
(B) bimorphic

/ trimorphic

(D)  polymorphic

@uer gl Huifwrerg QUG EWIMELD.
(A) CurGenmomie . 9&

(B) EHUILDMTe o9&

©) gerwori95

D) w98
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102.

103.

104.

Hyvla fabre care its young ones by
Mud nests (B) Tree nests
(C) Foam nests (D) Gelatinous bags

ewamar GuLfl eramgy b @ Haurpedl Hem GLphHangasamar eThs e nuile) UTgHSTEELD
A sPlwer sH B) s sl
(©C) meye® (D) Qgeriger enLiser

Which type of migration is not recorded in fishes?
(A) Latitudinal

% Longitudinal

Catadromous

(D) Anadromous

8Cyp QsrPssiu Geaeraasad, ops wms anfl QuuE Beasald
srentiL (Heudlebene

@) gosHuGes

(B) &rssCrens

(C) CslCLmgymoev

D) =Canmgrmoev

A classical example of neoteny and paedogenesis among vertebrates is

M Ambystoma (B) Siredon

(C) Nototrema (D) Alytes

P& WS

BCwr@dLell womb FOLrOgadleay YyHwuandng s srewrs  Ggrenny  GAstl®

Qereeliu@dern waHlw 2 gryewrd
A) <L GeGLrom " (B) ewsflmen
(©) CrrGumflor o D) semeriev

41
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105.  What is Tonoplast?
(A) Mitochondrial membrane
(B)  Chloroplast membrane
(C)  Plant cell membrane

Membrane of Vacuole in plant cell

CLrGermermeivL_ erenpmed eremen?

(A) . evwol GLnamemn Awmrafler LLeid
B) GCarnCrmSlermeni_iq e UL LD
(C) sreuy Qgdedler LLed

D) srauy e GUWIHudler LL b

106. What is the name of the fluid material present within the nuclear membrane?
(A) Hyaloplasm (B) Hyalolymph
Karyolymph | (D) Karyotheca

o U sl uLegdler 2 earCer srentiL(BD Hreugdear QT eranen?
(A  apwrGemYermaid B) apwrCeamedlibsLs
(C) CafMGwmedlbe.L D) CasACundlam

107. The granular form of ER was also termed as
w Ergastoplasm
(B) Agastroplasm
(C) Cisterna
(D) Matrix

crarCLTGemmd cuama uile GISETHET enDLIenL GTET &N PEHEHELD.
(A)  erresrevCLmllerman

B) srav_Crmerrsd

(C) HeviCer

D) @eoruSi G Quigper
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108.

109.

110.

The receptors for steroid hormone lies in
(A) Cytoplasm Plasma membrane

(C)  Nuclear membrane (D) Mitochondria

evtermi® anriCureflen MOFlLmigeT 61hiE GrenTiL(Hib.
(A) s GLmlermsid (B) Qermeviom Li_eod

(C) Blupseflwirt L eb (D) apior GLramarl_Awim

Which of the following nitrogen base sequence will be translated into protein?
(A) UUC, CCC, UGC, AUA, GUA, GTG

(B) UAA, AUG, CCC, TCC, ATT, ATG

(C) UAA, CCC, UGC, AUA, GUA, GUC

% AUG, CCC, UGC, AUG, GUC, UAG

Spésam_cupme erhg enplyen Cuey auflensser “Urgons’ wIHHLD QewiwIL@Ib.
(A) UUC, CCC, UGC, AUA, GUA, GTG |

(B) UAA, AUG, CCC, TCC, ATT, ATG

(C) UAA, CCC, UGC, AUA, GUA, GUC

(D) AUG, CCC, UGC, AUG, GUC, UAG

The genetics of fungi is called as

(A) Microbial genetics

_ (B) Viral genetics

(C)  Drosophila genetics

y Myco genetics

STETTETSETIEH DFLHIG T DeP&SLILIHEDE).

A) mewmemuiT wry mre

B)  Q@zromCrmi uylywb Smmblseamer LpHiw Iy I
©)  uptuEs wryBID

D)  yepremssanar LnHHiwg
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111. Which among the following is correctly arranged?
Rumen — Reticulum — Omasum — Abomasum
(B) Rumen — Reticulum — Abomasum — Omasum
(C) Rumen — Omasum - Abomasum — Reticulum

(D) Rumen — Abomasum — Omasum — Reticulum

Epsam_cupmer erg sAwns euflwsiL@ss L’ Heeng)?
(A)  epwen = Gry&Gabd —> @IS —> SURLTELD
(B) emwer —» Qrgs@eon — &Démn&d} —> QOTED
(C) (mwen — @ursd —> SLgwrsd —> Crg&HEGUD

(D)  emwer - SLgwLrED —> @LTFD —> Qrg&EEGLD

112. Enzymes involving in synthetic pathway are called

(A) Transferases (B) Hydrolases

(C) Lyases W Ligases

2 (meun&@Lb Hlapeller LimiE Qumb QAprdlsdr
(A)  CyremevuGrsen (B) eam CyrGeassn
(C) eaCusgav (D) &OCsaenv

113. During deamination of aminoacids, aminoacids are converted into
Keto acid
(B) Maleic acid
(C)  Succenic acid

(D)  Pyruvic acid

Canr Béasdlen GLmg 2O Canm iblemiseT <48 TN Ens)
(A) & CLr yfeid :

(B)  1rals sjdlevtd

(C) s&éalls e

D)  eoumals Siflaw
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114.

115.

116.

S

Name the antibody produced during primary immune response

@A) IgA " IM

©) IgG (D) IgDh

apsamd Hlene Crml gHLuben CUME) 2 (HEUTELD LETL g LI 6Tg)?
A) IegA _ B) IgM
©€) IgG (D) IgD

Name the vitamin responsible for pernicious anaemia

(A) Vit. B1 (B) Vit. B2

(©) Vit. B6 V{ Vit. B12

Quirefl e iefllwreln@ sryarTiome eneul L Lbles 6rg)?

(A)  eveur_Liflaw Bl (B) . aneul_Lién B2

(C) eveul L 1dler B6 (D) eveul et B12

Identify the killed vaccine from the following

- (A) Typhoid vaccine

(B) Measals vaccines

(C) Mumps vaccine

M Rabies vaccines

EpaasamTLeunmieT e1g dardeliulL gHuY GBS
(&) @Lumi® sHUY LHHS)

(B)  Seeev (LY W®HHS

(€)  wou sEOLY HHE

D)  Grde sHLL wEHS
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117. “Type C” territoriality has seen in
(A) Vultures

(B)° Sparrows

% Herons

(D) Storks

“Type C” swavgmar L& e-erer Upeneu wWrg?
A)  Gawrd Heraf s(pEs6T

B) A pEmAsdr

(C) Qarsgser

D) wrenyser

118. “Individual distance” is applicable to

Mﬁrdsfprimates

(B) Snakes/birds
(C) Monkeys/man

(D) Reptiles/birds

“saflliul’L @en.Geefl” 2 arer eflem @sar
(A)  umeeuser/Grii@aser (primates)
(B) umbyseT/umeneusET

C) Eragser wHmb weflgiser

(D)  eaeuaTanauSET LOHMID LDECISET
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119. Which animal is found 2500 to 4000 metres altitudes in Himalayas?
(A) Spotted deer

@ Gambhardees

/ Musk deer

(D) Brow-Antlered deer

@uwiaauid 2500 apga 4000 B 2 wiwrer @L e srariiLBib wrer euams GHLEH S
(A)  yerefl wren

(B)  embumt wmer

(C)  sevgnfl wmer

D) SUCrreyeng Cemd wrer

120. Platanista gangetica is the scientific name of which animal?

\/ Dolphin

(B) Crocodile
(C) Shark
(D) Mullet

“Qerm_LneflevLm srivdlgan” aamgl erhs eflewnidler efloomdluied Cuuwi?

(A)  Lréden
B)  wpsow
(C)  spmBan
(D)  sfiBen

L 2 47 . FAZGY
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121. From the following pairs, pickup a pair which is not matching :

/ Kala-Azar —  Phlebetomus

(B) Amoebiasis —  Amoebic dysentery
(C) Tuberculosis — Koch's disease
(D) Rabies —  Hydrophobia

Qemeumib Cmgsafler Aurmssdlders Cuomyullaer Qg THEsHEsH6D.
; (A) seom-sjevrr - GG rCGurGLmbev

B) obbamflev - 59 14Qgan M (see)

(©) eaymsdlCrmi - Garédlen aflwind

D) pSev - ean_CprGumAwm

122, From the following find the odd man out sting is
(A) a modified ovipositor

(B)  used for injecting Poison

% a Poison gland

(D)  with two grooves namely stylets

Getreumeuareunbles QurmbsTs edenwWamer QaMbAs0 Qasrl (b 2 milily eraLg
A)  geflureiMer wmey |

(B) pepens Qequss LwenL(Heug)

(©) e pésamnd

(D)  evenL el eremeyd @) LaTeTRIGMETL @UHD] (HEHSED
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123.  Which of the following have pseudocoelomate body cavity?
(A) Platyhelminthes MSchelmintheS
(C)  Annelida (D) Arthropoda

Qeumlev eraneu Cured 2. H@Hlenw 2 enL_wiena?
A)  sleL yupsser (B) 2 (maver ypsser

(©)  amargams Lpsaer (D) senssrelser

124. The method of reproduction in Amoeba during unfavourable conditions occurs by
(A) Conjugation
(B)  Binary fission

W Encystment

(D)  Multiple fission

geueung srensaersiSur Con@aTerEnnd @er Qumss (wenpulen GLwiT ererer?
@A) @wemapop

B)  @oswiidera,

(C)  amiy &m@@eundshd

D)  uveapen Gerey

125. Tetraxon with all four rays more or less equal are called

(A) ascers (B) spires
M calthrops (D) oxeas

qoarssss@Epn  gnesmy @Gy  wriflurs @mE@h Brasss HRTAPLGET  eTeueummy

Sienp&sLL(HElarmen?
(A)  spevLisear B) evewuwnser
(C)  sadyrie D) sdwumev
4 49 FAZGY
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126. Maths and butterflies are included under the insect under?
(A) Diptera (B) Hymenoptera
Lepidoptera (D) Coleoptera

LOTSEET WHHD LD LFfsar arbs euflasuiiar S eumaliuBSslLL (Hereren?
(A glepr (B) eanGuwermiegr
(C) QeSminenr (D) Casralwmleym

127. Pincers are the modified podomeres of
(A) Exopodite Endopodite

(C) Protopodite (D) Pleoprodite

Aenaisar anLIemel 6The @eenll LnUiy LGS SEsaatTe) ,asi?
(A)  er&CenCGumen_i_ (B) erarGLrGumenL__

(C) yGrm CLnCumenL_ (D) QeflCGuirGuimrenL_i_

128. What is the endoskeleton of head capsule of cockroach called as?
(A) Notum Tentorium
(C) Apodeme (D) Pleura

syliumen L&flullen sepadha) @l SisFF LD reuaml Sienp&siuBEng?
A) Cmmiiibd B) QrenCGLrfwid
(C) uCumed (D)  Geerpiym

'129. What are the fine branches of trachea called as?
Tracheoles (B) Spiracles
(C) Taenidia (D) Intima

wréfureler meameniiu Haeraer ereuaimm SempsstiuRSlerman?
Q) wreflGurdser (B) evlyédlerser
(©) gafiqwnr (D) @enigom
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130. There are nine air sacs, of which are paired and in unpaired

(A) 3and3
w 4 and 1
(C) 2and5
M) land7
upaeausafldr gearug sTHpUmuse sremliuBEng. Sieupiled Gagma winsayd,
@DDLITEa|D STETUILGD.
A  3wdmn3
(B) 4 wpmdl
©) 2wppw5
D) 1wHmn?

131. Extension of plasmamembrane in prokaryotic cell is called as
M’Iesoseme
(B) Lysosome
(C) Ribosome

(D) Cytosome

UCmmGesfum_ys Qeewsefle Gamsvor uLasdar  elflauréssans eTaum
am‘lagé;asuu@élmgj.
(A) BSCenGesmb
B) @aGsrCGamb

(C) ACuUNCemd

(D) s CLrCsmd
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132. It 1is a progressive brain disorder

(A) Down's syndrome (B) Phenlketonuria

M Huntington’s disease (D) Turner syndrome

@l epmerufen pHGurssmear Carerm
(A)  Leyenav GrmoEGmH B) YGenamiierdGL Teflflwr

(C)  amengiLemev Crmi@H D) et Cpriig

133. Individuals having a single X chromosome 2A + XO have female sexual differentiation but

ovaries are rudimentary

(A) Down’s syndrome 4

y Turner’s syndrome

(C) Klinefelter's syndrome
(D) Cystic fibrosis

@ X gCmConGsmd Qarawm..  GQuar 2A + XO Qanearinmgud seuflLid Sigliue Siartb
wLHGw srewrLILFLD

(A)  Leyerev Gumi@m

(B)  Lieien Grmig

©) AeflenQueviev Crmiigd

D) AHevigs euldMNCuredlav

134. Effects of autopolyploidy is
(A)  Gigautism of animal cells M}igautism of plant cells

(C)  Dwarfism of animal cells (D) Dwarfism of plant cells

2 GLruredli9eomiig e eflenareyser
(A)  Merig Qawdle) Qomiss gearaw (B) sreur Qedaller Qum &g genento
(C) oo Qsadler Gerarg geareno (D) smes Asdeller @atars semento

FAZGY 52 L 3



135.

136.

137.

Actinomycin D blocks which stage or activity?

w RNA synthesis in nucleolus

(B)  Single strand DNA replication
(C)  Protein synthesis
(D) Neither protein nor RNA synthesis

<51 Carrenodlen D erps flane idvavg) Qewdur_eL sHafng.
(A)  RNA 2 pusd BluseflGuimedler (2L smwant)

B) e fme DNA oy

©) s 2pusd

D) Lsd Adwg RNA 2 pusH

Both deoxyribose and ribose belong to a class of sugars called as
(A) Trioses
(B) Hexoses

% Pentoses

(D)  Polysaccharids

. dedlengCGurey wHMDL erlumen FT&ES@T UG FT&EEH®T  eTen
QD P&ESEULHEDS).

@A) gerCuns )

(B) GansGargsiv

(C) GQuenGLrgen

(D) sl ()& snssany

Length of DNA with 23 Nitrogenous base pairs is

(A) 78.8A° M 78.2 A°

(C) T8A° ' D) 748 A°
23 @anan enpL_yman Cuevser 2 e w DNA eflen Ferd : S4B D.
(A) T788A° (B) 178.2A°
(C) T8A° (D) 748 A°
53 FAZGY
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138. What is the source of Jevenile hormone in insects?
(A) Cerebral ganglion

(B) Corpora cardium

/ Corpora allatum

(D)  Ecdysial gland’

ussaflcr euanancd apmrGlomafien pgmid ergy)?
(A Gueepener prbLSSDET

(B) smrOGuryT &g WD

(C) = smrtCumym eCal_Lib

D) easedwd srud

139. Who extracted luciferin first?

\/( Dubics (B)

(© Boyle (D)

Rover

Spallanzani

arflQufiar erep CaudlGumrmenar (pgen apgedled 19NSCsHGS6uT wmi?

A  @Guwmev (B)
(C) Gurue ' D)

140.  Science of life in rotation to time is

(A)  Environmental biology (B)

y Chronobiology (D)

Grmreur

evureverr gmefl

Developmental biology

Ecobiology

CrrsCam(h Qam_iyeL i aurpsans oiflaflwuigés
A)  sppuyD Gl | (B)
(C) Cpreuiflwe : (D)
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141. The correct equation for is Natality rate

V“'/b _ dNn
~ Ndt

Nn
B b=—
®) Nd

dN
o b=——0
©) 7

dNn
D b=
(D) N

Gy eSssens serrdujb eumiiiur®

(A) b:%
(B) b:%
(©) b=%
(D) b=%

142. “Minamata” diseased was caused due to

(A)  Sulphur pollution

M Mercury pollution

(C) Cyanide pollution

(D) Nitrate pollution

“UemrenrmAlLLn” Comi 6THS WTHU(HSOTD 2 (heureis)?
(A) seurwra

(B) ungps&b wreu @g,é)

(C) sweven(h s

(D) eplCrLl s

2 55 FAZGY
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143. 'The percentage of water is lost from the ocean by evaporation is

v( 84%

B) 80%
©) 75%
D) 70%

sLlD @mHE eflwumnge epad GeuallGumib Slar s569Hsib eTeuouareay?

A  84%
(B) 80%
© . 75%
D) 70%

144. A technique has been most commonly used by human geneticists

(A) variations

M pedigree analysis

(C)  controlled matings

(D) multiplication

wrfweuiser Waeb ifawns 2 LGWTE ILRSSD Asmbl B ub
(A)  wryur@ser

(B)  euwbsraeflenw ouie Qalieug

(C) s EUUESsSIULL 2L gipey

D) Qumésw wen
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145.

146.

147.

The pyramid of energy is always upright which indicates

(A)  Producers are not converting into energy

(B) Carnivores efficiently converts into energy than Herbivores

Herbivores efficiently converts into energy than Carnivores

(D)  Efficiency of energy conversion is same for all tropic levels

< nme 9@ eriGumgd CuwaCrrad @ mliug 0 GD&Eg).

(A)  swrfllureriser 2pHMENQ 2 (Heumd@eudldena

(B) ellemg o ararflser greur 2 awranflaanar el 2ifls jerailer ubmenay 2 meurd@dlemmen

(C)  sreuy 2 amenflaar eflomiE o et samer el iHla acﬂaﬁlsb_ D DDENE 2 (16U M@ E G e

(D)  margg flaesall@ib UHme 2 (Heurs@LLD FOWTE 2 6TeTet

- Which ecological pyramid is never inverted?

(A) Pyramid of Number

W Pyramid of energy

(C)  Pyramid of Carnivores

(D) Pyramid of Herbivores

e GwHlee g aiCurgCn samadiprs wrnrg?
By s SmiAG

B) posd ArdE

©) Senearaisaar 9mnie

D)  sreur 2 arenfigatien GAri@H

Which is related to the management of zoological park in India?
(A) SSC _ i (B) WZCS
CZA (D) IUCN

@rHw eflomi@sar sTULS S ER@LCUT®H AgTLyamLwg) g ?
(A) SSC (B) WZCS
(C) CZA (D) IUCN
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148. The young chicken raised specifically for meat are called

(A) Layers

M Broilers
(C) Pullets
(D) Hen

Qanm&slsans cuarrésliLBID CamsEeraelern @and
A) Ceowrev

(B)  SGymieren

©) yewlev

(D) Gsmf

149. Which of the following is the infective stage of Trypanosoma gambiense?

Intermediate form

M Short and stumpy form

(C)  Crithidial form

(D) Tetranucleate Cyst

Slemeumeuareupdled g fLiIGamGamor siblGwrendleflar Agrhoib Flae wreg)?
@) Qe ibyur fow

B) @ELeL whmib L Hae

©) depdgwe Heve

D) Quigr HlusefGuil fevl
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150.

151.

152.

153.

The name of the shell gland of liverflunke is
(A) Lyreon gland Mehlis gland
(C) Balfour’s gland (D) Vitellarium

soaSyoLpeden oL () srblluder Quwir
(A)  usens syl (B) Quamaien &gl

(C)  umebesLTeL&FUN (D) eweulLGeofluid

Who proposed the name Aschalminthes

(A) Hyman %Grobben

(C) Gagenbour (D) Linnacus

< evQsaflagen eremm Guwit eTeurmed (ebwmflutiuL gi?
(A)  ewamwen (B) #CGpmuen
(C) CagenGumi D) NenGanwan

What are the Olfactosensory organs of Ascaris called as?
(A) _Labial papilla (B) Phasmids
Amphids (D) Cervical papillae

Sjevarilaler p&T 2T 2 HULS6T ereuaTm SHMPEsILRSDE?
(A) CaQwe umSeer (B) JumeviSll(p&er
©) <l (Haer (D) swse urlaen

What is the name of the dasal wall of spicular pouch of Ascaris?
(A) Telamon (B) Spicular sheath

y Gubernaculum (D) Analpapilla

sevarieden meraplauuiar Copum e LLgSDE erarear Auwir?

(A)  eewmen (B) miewr pL LiLeld

(C) UGG (D)  weliyenyp umGeer

59

FAZGY
[Turn over



154. Organs disappears in Ascidian are
(A)  Tail
(B) Notochord

(C) Nerve Cord

M Tail, Notochord and nerve cord

2l wafian wrppsdlen Cung abOSHS 2 mILs6T BifHE) Gurgb
A are |

(B) CoriGLmrami

(C) Opfreu smi

D)  eumed, Cum_CGLr & wHyd Apie smi_

155. When the wings are kept folded

%&t rest

(B) At feeding
(C) At flight

(D) At breeding

umeauseatlen Qnémaser eriiGLNg L &) STeRTUILIGL
(A)  giey a@ssw Cung

(B) sru9@wb Cung

(©) ups@b Gungy

D)  Aflgm swsde
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156.

157.

158.

p - Chromosome is also known as

(A) Somatic chromosome

(B) Mega chromosome

w Super Numerery chromosome

(D)  Mini chromosome

B - GCrmCurGsmbaeamar TRTEYID B WP&ESILHEDS).
(A) G&WI;DFTI'_lq.éS &CrrGorGembd

(B) Quflu @CrrGurCemb

©C) s cramarfiisans GCrmCLTCand

D)  Adlw GCrmGonCamb

The bulk of genes occur in which part of a chromosome.
Chromonema (B) Centromere
(C) Satellite (D) Pellicle

@GrrGurGsmbsaficn arbg LEGHUID Hae Benser srawriiuHEng?
A)  &CorCurefior B) Qe Cymduwi
(C) smiLeel D) Queeisdler

If the mitochondrial number is found to be in abundance in the cell then
occurs.

(A) Photosynthesis

W Maximum activity

(C) Least activity
(D) Optimum activity

Qadvaafier el CLraran_fwreler aamarflsms <ifawrs arariuu@Bn Qurs
menL_ QL.

(Ad) qafls Corsans

B) <dsdeudun®

(©C) ©epeurer Qgweur®

(D) Hgwrer Qeweuim®
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159. Crossing over occurs at DNA level
(A) Chromosomal crossing over
Genetic recombination
(C) Mitotic crossing over

(D) Recombination

DNA safléd BL_&@LD> &1L_bs) apenm

(A) BCCGunGsrbsaflen sLibg wpem
(B)  wyuameien wpCarsamauder aparm
(C) ewLm_gsfen SLBGID wpepm

D) vyCsrsms

160. In plant cells, autobolyploidy result is known as
(A) Dwarfism (B) Agglutinins

W Gigautism (D) Pseudo alleles

smeuy Aaevedled 2 CLmlemig ghuBSSID eflenareyser.

A) @erarssanenio B)  isauqaflen
©) cwrspememw D) Qumiwrer Si@eSeaeT

161. This is one of the process of genetic mapping.

% Determination of Linkage groups
(B) Transformation

(C) Conjugation
(D) Transduction

Spsaam_aupile) @anm OILE eUMTULSS 2 (HauTés 2 S dng.
A) Yevenrls QsmGSaaian firemusse

B) s ggsd

€ Qoarey

D) GO aBsse
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162. “The rate of activity of animals increases doubled (with in certain limit) for every 10°C".
This is rule.

(A) Allen’s rule

(B) Bergman'’s rule

/ Vont Hoff's rule

(D) Jordon’s rule

eam@saiar QewourPas gaQerm 10°C (@ aomadgEe)sE@n Qren® wL kg dafsdng.
Bs

(A)  éoaer i

B) Gurswrer ald

(C) euranapnri a9F

(D) Cgmimen el

163. Resting potential value of Nerve fibre is

w/-mmv ®) +70my

(C) —-80mv (D) +80mv
By praflen guie| Slmer

(A) —70mv (B) + 70 mv
(C) —-80mv (D) + 80 mv

164. How steroid is modified in front of the eye?
(A) Iris (B) Ciliary muscles

vaif ===y D) Eyelid

evdlefligmi® sar e ereucumyy wrHluimESms ?
A) gflev ] B) GmWay smssdr
(C) smrafwm (D). sewr @evio

& 63 FAZGY
' [Turn over



165. Movement of cells from the surface to the interior of the embryo is called

& - Epiboly vm" Eimboly

(C) Ingression (D) Concrescence

sh&Garasdlen Guaugdue edar Csdsd ol upsdne @LUQuuiE Qe @b

Bl&1pe & eremar QuwT?
(A)  GupuLige s (B) e luLige
(C) odmwugd (D) Qeeardr é

166. Archenferon develops into

% Stomodeum (B) Proctodeum

(C)  Cavity of alimentary canal (D) Coelom

smellen pped@GLeiler QmHg 2 (Haun@b L@GS as?
(A)  aCLrGuwrCLwib (B) yCrr&CGLrGLuwib

©)  eamasgpdea Gpues D) 2LpEd

Brain of vertebrates develops from

% Ectoderm

Endoderm
(C) Mesoderm
(D) Mesenchyme

QGBI satl) apener aThs 21H6E Aewsaiia Qmbs CempmelssiuBAHng?
A)  uyn=hés “

B) =528

©) O =205

(D) (Bseensibd

FAZGY ' 64 £



168. The colour change in the octopus is comes under what type of communication

(A) Tactile

M Visual

(C) Trophallaxis
(D) Chemical signalling
Octopus-&é fipw mpoib erhg cums saaue Agm_itau @hédns
(A) Qsrdeug
(B) untencugseued
©  Hraud
(D) G@@Qun@dr @gmiy
169. Which is the most beautiful wild life sanctuary in Rajasthan?
(A) Sesangir
(B) Cotigao
mariska
(D) Tandoba
prgevgTeile 2 drer Blaayd algp;srrm aimaﬂéﬁ:@ FTERTTOWILD 6187
(A) Gesendiiv
(B) &smigCsr
(C) e&Mevar
(D) senGLmur
2 65 FAZGY
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170. Acid rain is mainly for the more accumulation of

@) o, B) H,S

© cH, G 50,

Sjfle wenp GUIW STTETLOTET 6uTu| 6Tg)?
@) co, ®) H,S
€ CH, (D) SO,

171. Which gas causes ‘green house effect’?

& S0, v co,
@) CH

(C) H,S0,

4

“LFemF@)ige UTSUL" STIERTLOTET H&s UL 6T8)?
4) SO, (B) CO,

(C) H,SO, (D) CH,

172. Periyar wild life sanctuary is situated in

% Kerala

(B) Tamilnadu
(C) Karnataka
(D) Andhra Pradesh

Quilurt asenaflemi@g srarTreWiLD 6Tk wblosdla o ararg)
(A) Cargerr

B)  HOHE6

C) srET_ET

(D)  <=ndr ArCsebd
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173. Harvesting period of sea weed ranges from
(A) 20-30days
(B) 25-40days

(C) 30-55days
VV 25 — 60 days

&L_6) Ué] ageuem_ Qacughaner e iaTey
(A) 20— 30 priser
(B) 25— 40 priser
(C) 30— 55 pr_ser

(D) 25— 60 prser

174. Which countries consider the sea weed as an important food?
(A) China

(B) - Japan

W/ Both (A) and (B)

(D) None of the above

sLourd g wa&dw 2 ameuns aHEsHE Hr{H&6fd &msULHE DS ?
(A)  Eemr

(B)  guumer

© (&) wpgid (B) @rarggid

D) QGaausaie ageybdlome
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175. Which of the following is True?

6
(1)
(iii)

Nervous system in hydra is in the form of irregular nerve net
In hydra digestion is both intracellular and extracellular
Hydra reproduces asexually by binary fission

Medusa of Obdia is a feeding zooid

% ) | ®) G

(iii) D) Gv)

QarssliulLeunhle 6T& 2 amenLn?

@
(ii)
(iii)
fiv)
(A)
©

enamiq yredlen BTLDL LD G(pmEHD euamalidarare Curd 2 drerg
@aniy rreiled Gsed 2 6T wHYLd Gee@euafl Gafibrand srariiu@fpg
man g7 @Q)m swlibereurs urellor @earu@UmEs e CopHQsTerdng

eUidlwrelfler Qu@er 2 arap L &Ml <4@ELW0

® B) @G
(ii1) D) @v)

176. Skeleton of cord colony is known as

A

theca

M corallium

©
D)

corallite

basal plate

UeueT UTenpaertlen UL sl eremaneus jenpssiL(héng)

(A)
(B)
©)

D)

FAZGY
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& 550

68



177.  In which animal, the cardiac stomach comes out of the body, feeds and digests food outside
the body?

(A) Fresh water mussel ' - (B) Pila

j Starfish | (D) Leech

ahs e ulfludle srmqwrs @erlemu 2 L allel(mig Geusf upgl, eyl L b Gewg Csflorernd

Cupbsrerdmg)?
(A)  peraiimolig (B) ewuer
(C) pLlssdyBen D) eilaen

178. Match the following :

(a) Brachiolaria larva 1. Crinoidea

(b) Doliolaria larva 2. Asteroidea

(¢) Pentacrinoid larva 3. Echinoidea

(d) Echinopleuteus larva 4. Holothuroidea
(a) (b) (c) (d)

A 1 2 3 4

(B) 4 3 2 1

© 3 1 4 2

W 2 4 1 3

Superereupenn QUGS :

(a) QyrsfCuCaflur @are udf 1. Aflermiigwr

(b) CLrelGurCaflwr Geare uif 2. Syeviqymiigur

() Quen_rdflenmi® @ere uif 3. eréSlenmisiguim

(d)  eradCammyepigwen @ e ulifl 4. GamrGeomg)pmiiiguim
(a) (b) (© (d)

A 1 2 3 4

B) 4 3 2 1

© 3 1 4 2

D) 2 4 ! | 3
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179. The significant difference between animal and plant cell is

/ Nutrition (B) Growth

(C) Movement (D) Respiration

efleriuE Qedgis@, sTeur QgdaisE b e Gu 2 erer apsdlw Gaumiuir®
(A) oewaylLid B) euerr&s
©) @QuuQuurey D) seunsd

180. Internal dense lamella of nucleus is made up of
(A) Lipid and protein
(B) Lipid and carbohydrate
. Protein and acids

(D) Lipid and acids

2 Ugmelilen ‘s 2L 58 Calwadan” o (meurssil ([Hearerg.
(A)  Qamly womib YCrTL e

(B)  Qamupiiy womib srrGurenam G {

(C) yCypmiesn LOHMID SOEIGET

D) Qamyuy wHmib blemser

181. The major sterol found in biological membrane of Eukeryotic microorganism.

(A)  Prostaglandins (B) Cholesterol

y Ergosterol (D) Sitosterol

wCasMCwmiyé pamanuidfuier 2 ulfl L@ arerriuBid psHw ey
(A)  yCrevrélemmebiig.enen (B) Qsreevigrmed

(C) emGamevienme (D) &AL CLrmev_gmed
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182. The number of possible triplet codons with 4 nitrogenous bases are

(A) 16 B) 8

/ 64 (D) 32

BrenE epLrRea Guevsmar LwaTLHSH apCoupdg CamLreanser 2 heurés Aplgb.
(A) 16 B) 8
(C) 64 D) 32

183. In Lac operon system Lac gene Z codes for

(A) Permease m galactosidase

(C) Transacetylase (D) Repressor

Caé pligmen weRTLawdled “Cod ghesr Z " 8 @HuEG Caidng.
(Ad) QumACuien B) p CswaGLnrdlGLev
(C)  womanev&_LCave D) AdgremT

184. Which of the following is called as “adaptor molecule”?
(A) m RNA (B) rRNA

w{ t RNA (D) zDNA

SILTULT epedanm eTenm) ergane GDILiSlLemb?
(A) mRNA (B) rRNA
(C) tRNA (D) zDNA

185. Which chromosome number has the highest number of genes?
Chromosome 1 (B) Chromosome 21

(C) Chromosome 11 (D) Chromosome 23

Spssar. @CmGrGambaad afld oifs aarafllsmsuiie goasar sramiuBéns?
A)  ECymCGuwrGsmb 1 (B) @CynCurGesmb 21
(©) ©CymGwrCemb 11 (D) ©ECrnCurCamb 23
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186. Substances which enhances the immune response of antigen are called

% Adjuvants (B) Vaccines

Toxins (D) Antibiotics
@y Qmansaflen  Crmi  erfliiygdpmer sfsfaEn  Qurmerser eren
S &sLLREDS)
(A) s geuar (B) eunsélanser
(C) Lnéflenser (D) e iguwm’ g e

187. Which among the following is transport protein?
(A) Collagen (B) Pepsin

W Haemoglobin (D) Insulin

ED&seRT_cUDDET 6TH SLSGID euns LTS ?
(A) Qaramrger B) Quiller
(©) abCurgGermen (D) @enaeden

188. The secretion of ADH is under the control of
(A)  Photoreceptors
(B) Mechanoreceptor
(C) Thermoreceptor

W Osmoreceptor

ADH &ruy e & (HLLIM_ig 6 2 6Terg)

(A) @ o ariey eumm .ﬂasdT
(B) Qs 2_ewrirey euriudser
(C) Qeulu 2 awritey eunriidaar

(D)  Biw 2 ewrirey euudlser
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189. Identify the pore diameter of Malphigian capsule
(A) 400-600 A’ (B) 600-800A

‘/ 800 — 1000 A’ (D) 1000 - 1200 A’

wrédgwer 2_empuilé o erer giaverudlan eNL L Sens sam (g
| (A) 400 - 600 A’ (B) 600-—800 A’

(C) 800-1000 A (D) 1000 - 1200 A’

190. Name the structure which secretes progesterone
(A)  Graffian follicle Corpus leuteum

(C)  Ovum (D) Placenta

HCrrlgevl Cymen eremm anmiComene &y&@ b enioLiL] 6Tg)?

(A) S Qwen umedlsder (B) srmiuev emliguwid

(C) yewrd (D)  smi Cal QenenriiygSla

19 1.. The permeability of DCH of Nephron is under the control of
(A) Oxytocin
Vasopressin
(C) Thyroxine
(D) Insulin

@pigreflesr DCH-ulen ean(pmefliuga)ib Smer ergeanme & Hiu@ssiiu@GdEng?
A) salCLrdle

B) eurGevrtigen

(C)  agynéslen

(D) @enselen
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192. Which animal to emit a “alarm call”?

(A) Snake
(B)  Squirrel

(C) Donkey
f Birds

“eréefaema gall” er(plib el erg?

(A) umby
(B) =efled
C) swos -

(D) upereuser

193. Kaufmann defined the territoriality in the year

(A) 1881
(B) 1991
~/ 1971
(D) 2001

Kaufmann erenpeui efleom@aafier 2 drar erevenew umsl e efleuflgs aumLLd erg?

(A) 1881
(B) 1991
) 1971
(D) 2001
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194. What is the size of fine particles?

%less than 100 x in diameter

(B) less than 200 x4 in diameter
(C) more than 100 x4 in diameter

(D) less 300 g in diameter

mlamaflw gsearsaflen sierey CoibbsHS8 oT(WSHIG
(A)  rwmBlfe 100 4 Gepeurarg
B) rwrBlfé 200 x4 Gwmeurang)
(C) rwmSiifeé 100 x4 oflswreng

(D)  LwmSfe 300 4 GODHSS

195. In which species “Assembly call” one seen in peceuliar?

Sparrow

(A)
W U.S. Eastern crows

(C) Pigeons

(D) Peacock

ahs @ansH genm Carseb seply Qurgeurs sramuuBng?
A)  ApEmeI

(B) U.S. flpae ued snab

(C) uyprégner

D)  wulé
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196. In which country sea weeds are grown in plenty?

/ Asia

(B)

(©)

D)

Europe
America

Australia

&L umdl aueriL 6THS Brliged 1iSls Sioredléd euaTiasL Kélmg?

(A)

(B)

(©)
(D)

<yl

enGrmiim
< Qwhssr

<,eud Gredlwim

197. Who first designed the Lates fish culture technique?

(A)

Tamil Nadu State Fisheries (TNSF)

M Central Institute of Brackish water Aquaculture (CIBA)

(©)

D)

Aquaculture Foundations in India (AFI)

Central Marine Fisheries Research Institute (CMFRI)

@pger apsers Furev e aueriiber Gamfle mL Lsms o (Heumsdiwig) wimm?

2V
(B)
©)
D)

FAZGY

sB1pB1E wrhle Ber geop (TNSF)
wsHw 2 au Hir 2 udfl euemitiy Hleneowid (CIBA)
@pHw B 2 u9f cueriiiy Hlenewid (AFT)

wsSHL sLdeuT Beauer %U’ﬂ‘u'.léﬁﬂ Blepeowiid (CMFRI)
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198. Origin of life took place
(A) Along with the origin of Universe
W Along with the origin of Earth
(C)  After the origin of Earth
(D) None of the above

2 WAsafler Cxrhmid WPBD BLHSS
(A)  2@ab o margb Curg

B)  ywl 2 meurgd Gurgy

©) Yl 2 @meurar e |

(D)  @dle argieid Geena

199. Who discovered that malaria is transmitted by mosquitoes?

M Ronald Ross (B) Lancisi

(C) Grassi (D) Charles Laveran

wCaflwr Qansssar epaid ut.jmeﬂs&m)m ST SE Fet (B Nig SSeu wimr?
(A)  CpremmeoL_ pmeh (B) wendd
©)  Aymed (D)  snitee eeSlymén

200. An insect vector, Glossina sp is commonly called as

% tsetse fly (B) horse fly

(C) deer fly (D) sand fly

Herranr Apdensenss snibs LFs QeusLmit ereueury Qurgieuns SienpssluBEpg)?
(A) Qe _Gen rr (B) @deny

(C) wrerm (D) wewrd
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this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
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